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1(1Lfiz—Hh 60 13 47
2|teh 58 18 40
3|HRH 49 14 35
4|_EH 55 22 33
5|®RHEH 37 8 29
6 | B&RLL 54 30 24
7 |#Rigkep 57 34 23
8|3hRI=*Hn 53 37 16
9|t 22 7 15
o (AL 26 11 15
11|B5EmE 28 15 13
11|E#HFmh 61 48 13
13|{A 64 52 12
14|8L&H 27 19 8
15 |3tk eh 10 5 5
16| F&RH 21 17 4
17 HR=rp 35 32 3
18|&HIR 3 2 1
19| LlUAZ7RHh 1 1 0
19| XBaEsH 36 36 0
19[Rmh 44 44 0
19(#5HP 59 59 0
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23| datgich 39 40 -1
24| Ll 2 4 -2
24| AU AR 4 6 -2
24| BRE 43 45 -2
27 | KHfirh 19 23 -4
28|fe&th 5 10 -5
28|3BiRdt e 7 12 -5
30| @R 56 62 -6
31| ARENER 16 24 -8
31|t L@aeh 25 33 -8
31|tk 31 39 -8
34|iBEAH 40 49 -9
34 (3h KM= 51 60 -0
36 |HHERERH 11| 26 -15
37| BEErah 15 31 -16
37 | E5iEEh 45 61 -16
39|{E&dLth 33 50 -17
40 | ;hgbch 46 64 -18
41|f&ERI 17 41 -24
41|5hATMg e 23 47 -24
43| BEAR)IIE—*h 29 54 -25
44| EREH 14 43 -29




I =1 BF
B |F— L% HEIE| S EE| IS
BUEIEf-S BB
45|HR—Hh 18 51 -33
46 | % —r 24 63 -39
MHERH - 3| -
LR - 9| -
K= - 16| -
MHERPB |- 20| -
BREES - 21| -
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HHihB - 28| -
1LpEh - 29| -
LEFh - 35| -
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EHH - 53| -
mAH - 55/ -
fAfEs - 56| -
RimH - 57| -
—Rah - 58| -




